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28,000, 0002 28,000
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Al 11,000
T 11,000
402 212201 & 22,000 40,000 A 18,000
Al 11,000
2 11,000
01 QItXI=2E X 22,000 40,000 A 18,000
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Al 11,000
- 11,000
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4,000, 00024 *30% 1,200
L4042 SN BA =Y 1,000 1,000 0
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OsSotrE28 A SEMA 50,0002 #4000 2 2,000
206 M= Hl 1,232 0 1,232
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OitetERHe A N (MYIISE)
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SHZ HedEdzs N 2,000 3,000 A 1,000
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402 QI2t X201 ™ 2,000 3,000 A 1,000
Al 2,000
01 QX=X 2,000 3,000 A 1,000
O30z HEExX 1,000, 000& *2JH & Xl 2,000
Al 2,000
SAZ0 FEEds X2 200,950 234,720 A33,770
201 gEt2dd| 950 2,920 A1,970
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ONTOSHREEA B4 N
70,0003 * 1100 2 770
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01 2013 200,000 200,000 0
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207 A PO 59,000 25,000 34,000
01 H72E 9| 59,000 25,000 34,000
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OdIE MAHAESHT HA 30,000,000& 30,000
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A2 X 20,000 0 20,000
PSRRI | 2,000,000 * 1090 2 20,000
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Al 4,000
- 53,500
Bt2Fdl 28,300 8,000 20,300
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OFII2S 7Y 20,0002 200
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Al 148,000
2 363,400
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Al 146,600
2 362,800
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OZZ22AY Al&2HY 2,000, 0002 2,000
Al 1,400
2 600
YES XNE 10,000 20,000 210,000
307 212+0I & 10,000 20,000 210,000
05 QIR 913 10,000 20,000 10,000
OXaex = 10,000,00024 10,000
NAZSH X2l A 334,069 772,000 A437,931
= 167,034
Al 83,517
2 83,518
401 Al 2812 S 0| 334,069 772,000 A437,931
= 167,034
Al 83,517
- 83,518
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= 147,680
Al 18,460
3 8,460
NEEPIEEYEEORCE 2,800 2,800 0
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401 Al EHIL 20| 302,000 301,000 1,000
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62,5002 *x80H 13| 5,000
A EHote RXE S A2l s 69, 360 0 69, 360
201 2 et2HH| 20,760 0 20,760
01 AtR2t2l ] 20,760 0 20,760
O=8H ¢ |10z 20,760,000 20,760
207 O] 5,000 0 5,000
01 AF2ESH| 5,000 0 5,000
OEZ )8 XA 5,000, 000& 5,000
301 dEt8EAZ 33,600 0 33,600
10 HAIAHIEAZ 33,600 0 33,600
OZ A& 280,000& 128 x10& 33,600
307 QI12t01 A 10,000 0 10,000
02 QI2tA AN X 10,000 0 10,000
OasHl ¥ sd&Ess 10,000, 000& 10,000
OIFE XIS ASED|Y Efet3) 10,000 0 10,000
201 L Bt2HH| 8,600 0 8,600
03 SHAI2HHI 8,600 0 8,600
OAMIEIY &3] JHEl 8,600,000& 8,600
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Ottetgl 20|19 S|
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Oget=2H| 500,000& x12& 6,000
OAIE &Y &= 30,000& x12& 360
OZdIAHLE 8 36,000,000 36,000
03 SHAI2HHI 9,000 0 9,000
O AIZE Iy gt 3,000,000& *33] 9,000
401 A& HI L 21| 10,000 0 10,000
01 Al&H| 10,000 0 10,000
OASI A D1 IFAHIO0IE AEHLW ClHIZINH &2
A 10,000, 000& 10,000
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01 M2 S FH SHI 24,492 0 24,492
OCIFHIOIEH HdH =228 P& 24,492
oLY A 307,000& 13K 3,991

_11_




SA: XS ZH
Nm: DZoiTe 1%
el DEFA Y AU X celd A
M- ®=Z . Che (5 NEAY . B2 Al OH HEE Hl =2+
oOMNRE Xt 247 ,000& * 13 3,211
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o gl HIOI= 194,000 =14 194
o LtEE Xt 147,000 =44 588
o6& JHHIR 180, 0002 *8IH 1,440
02& IHHIR 142,000& * 14 142
ollEI& +¢ 5,161,000 =14 5,161
o=gJ FY 4,500,000 *1CH 4,500
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Al 20,000
- 23,000
X == ¥ otH 83,000 335,000 A 252,000
= 40,000
Al 20,000
- 23,000
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01 AR 2teld| 3,000 3,000 0
OlUHXNEAEESE M 1,000& *3, 0004 3,000
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Al 20,000
- 20,000
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- 20,000
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2 40,000
Al 20,000
- 20,000
=2 Jl=XI&A 6,882 2,758 4,124
= ¥ HED orda 6,882 2,758 4,124
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OAIZIE BRAY 2 6702+13A2H6* 128 2,500
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